A — )L EHBR L FR

ver 2020/3/13

~Ti% (mm)
BAW =] 5 W EX# | Tim/ 4T ME wE

K3IE 21900 6000 1 EAEL aY 1150 gL—
TR 22000 9500 1 EXEL aY PEfERREY
5| Bl # R 11500 9500 1t 2{EE4S ;L YT 20 | 27 S |- <]
i T 21900 9700 1 EXEL aY 115104 =
HE1 3750 10000 1% EXEEL L H— L= 29995 0 TKFERFAYT7I7+4—ILEL—IL 3.75m % 2
HE2 3750 0500 1%t EXEEL ;L H—I)ILY— 299950 TKFHRRAYT IA—ILEL—IL 3.75m x 2
HE3 1%t EXEEL ;L H—I)ILY— 299950 TKFFHRARAYT7T I4—ILEL—IL 3.75m x 2
HE4 4750 11000 1%t EXEEL L H— L= 29995 0 TRKFERFAYT7I4—ILEL—IL 475m %2
hE|E 11500 9500 1xt EXHEL :: ) H—)LY— 299950 TKFEFHRARAYT IA—ILEL—IL 115m x2
XFA 1 EXEL aY ==

21900 4000 ‘ ‘
XF2 1 EXEL aY ==
X3 25100 4000 1 EXEL aY =)=
XF4 1 EXEL aY =)=

21900 4000 ‘ ‘
XF5 1 EX L FY H—)ILY—
KEE 21900 10500 1 EXHEL "Y H—)LH—
RYY LR 21900 10500 1 EXHEL FY 115N gL—
RAARE(TFH) 5 EX &L ;L [GIERE R AT )LL—IL

2900 10000 ‘ — —

HAE(LEF) 5 EXEL ;L [GIERE & AT)LL—IL

1/1



